I-t)g‘f(:vz2 +SX—5) +3log ] (x) =4log,(x) I-t)g3(:~12 -I—SX—S)

O/13:

x>0
2
X +5x-5>0

2 2
Iogf(x +SX—5) +3log ] (x) =4log,(x) Iog3(x -I—SX—S)
IIpousBenem 3ameHy nepeMEHHbBIX

rfa=l~:1g3(1i:)
b=log,(x " +5x-5)

A

2 2
3a +b -4ab=0

L

[IpeoOpazyem ypaBHEHHE.
22

3a +b -3ab-ab=0
2 2

3a -3ab-ab+b =0

(32 -3ab)(ab-b’)=0
(a-b)(3a)-(a-b)b=0

(a-b)(3a-b)=0

rfa=l~:1g3(1i:)
b=log,(x " +5x-5)

a-b=0
3a-b=0

N _5+3\]?

L 2

A




2
log 5(x) =I0g3(x +5x-5) x=x +5x-5
_S+3\l? -5+3+5
X>— >
2 2

Pemraem BcriomorarenbHOE ypaBHEHUE.
2
X=X +5x-5
2
X +4x-5=0

2 2
D=b -d4ac=4 -4-1(-5)=36

-4-6 -4+6
X =———=35 X = =
121 2 21

I/ITaK, OTBCT 3TOTI'O ClIy4dasd:

X
1
Cayuaii 2
ra=l0g3(x)
b=log3(x : +SX—5) 5
< b=3a Iﬂgs(x +5x—5) =3log,(x)

_5+3\r N 54345
2

It:)g3(:~12 +SX—5) =l0g3(x3)
2 3
X +5x-5=x

2
x+5x5x

_5+3\r



Pemaem BcriomorarenbHOE ypaBHEHHE.
2 3

X +5x-5=x
3 2

X -X -5x+5=0

(x*-5)(x-1)=0

x=1

Urak, oTBET 3TOTO Cityyas:

OKoHYaTEeIbHBINA OTBET:




